(7.087 |

.- [inch]
Unit : mm

10.157 | (4724 |
4-M4 120 [0.256 |
©6.50
[3.346 |
(3.346 | 85 [0-(21597 ]
4-P5
-8 [0.787 | (3287 ] [0.394 |
‘ R20 83.5 10
<&
— — o o
g < ~ : :
¥ SR a A @8 I -
s 5 i 5 =
-~ -, ?\ o
-
% ¢
QOp :
[0.157 | [0.256 |
(1811 ] | [3.287] )
46 835 A-M 4- 965
[1.181 ] [2.559 |
30 65
16.772 ]
172
[0.079 | o
2 (10.315 | © o
‘ 262 ‘ 5 P
—
& g
Universal Wall Mount Bracket
Specifications
Material Steel
Color White, Powder Coat Finish
Approx. Weight 1kg(2.2 Ibs)
Standard & Compliance RoHS

Standard Accessories

For:

ASC Housing
Canon Camera
Panasonic Camera
Other Cameras

M4 x 20mm Screw X 4pcs.

M4 Hex Nut x 4 pcs.

M4 Washer x 8 pcs.

1/4-20 x 3/8 Screw x 1pc.

3/4” Watertight Plastic Bushing x 1

A-SWD5, A-SWD5V, A-SWD5VX, A-SWD5Z

VB-H610VE, VB-H610D, VB-M600VE, VB-M600D

DG-SW559, DG-SW355, WV-CS504F, WV-SFV631L/SFV611L, WV-SFN631L/SFN611L
Any 1/4-20 Mount Cameras

ASC

Corporation

ASC




